[ Efficiency vs vertpos |

0.5

0.45F
0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05
10

...................................

...................................

...................................

.................................

1.1

1]

b

—=— DQM_DisplacedSUSY__mkFit_BDT_

Efficienq —— pom_DisplacedSUSY__mkFit_

0.5

0.45
0.4F
0.35F
0.3F
0.25F
0.2F
0.15F
0.1~
0.05F
Vel

............

...........

...........

[y
T

0.95!

.
&
» o
¥
+
+

[ Efficiency vs. sim PV z |

0.8p

0.7

0.6

0.5

0.4

0.3

0.2

0.

10

1.1~

I
o

o e

: Tt

. | I...+.I-u1..l.. |

) ] o R R
5 0 5 10 15 20



	Contents
	Page 1


